
Soustraction Pâques (J)Obtenez un lapin pour chaque réponse correcte. Lapin Obtenu: _____/25132 3 58 45 102- 77 - 3 - 25 - 14 - 33
110 66 155 82 47- 21 - 11 - 62 - 33 - 7
125 107 55 75 135- 56 - 35 - 3 - 35 - 85
150 11 72 41 135- 63 - 10 - 56 - 3 - 67
121 189 130 151 106- 25 - 91 - 65 - 54 - 86
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Soustraction Pâques (J) RéponsesObtenez un lapin pour chaque réponse correcte. Lapin Obtenu: _____/25132 3 58 45 102- 77 - 3 - 25 - 14 - 3355 0 33 31 69
110 66 155 82 47- 21 - 11 - 62 - 33 - 789 55 93 49 40
125 107 55 75 135- 56 - 35 - 3 - 35 - 8569 72 52 40 50
150 11 72 41 135- 63 - 10 - 56 - 3 - 6787 1 16 38 68
121 189 130 151 106- 25 - 91 - 65 - 54 - 8696 98 65 97 20
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